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M7 Chapter 6 Test

1. What is the first step in solving the equation to the
right?

A. add 2x to each side a?)f o= 49

B. add 2x to each side m (7]
C. add 2 to each side = e D
D
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2. What value of x makes this equation true? SHOW YOUR WORK ?
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3. Fora warm up, Samuel runs 100 yards less than one-fourth the maximum distance he can
T ; 1 :
run. This is represented by the equation » = o 100, where x represents the maximum

distance he can run and r represents the distance run during his warm up. If Samuel ran
900 yards during his warm up, what is the maximum distance he can run?

= £ -/00
A, 5,200 yards i ? ?90 2 Z{ix -!;.0.;) ?ﬂg ) (yﬂw)
B. 4.600 yards +j00 ¢[00 - /pop-10° C
C. 4,000 yards colean ( Lf\)
000" ¢ : -
D. 3,600 yards (4 & 400 * 400 #

Hooo= Y
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4. Which of the following problems can be solved using the equation x + 9 = 15?

A. Allison is 9 years younger than her sister Pam. Allison is 15 years old. What is x,
Pam’s age?

B. David’s portion of the bill is $9 more than Jaleel's portion of the bill. If Jaleel pays C
59, find x, the amount in dollars that David pays.

C. The sum of two numbers is 15. If one of the numbers is 9, what is x, the other
number?

D. Calvin owns 15 CDs. If he gave 9 of them to a friend, what is x, the number of CDs
he has left?
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5., Four children each had the ¢ mount of money in their savings accounts. Ong of the
children withdrew a third of his money and spent it all on a $15 hat. What was the total

amount of money originally in the accounts? B .-‘!;'X = itj' %
A

- B CLolnT
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6. The length of each side of a square was increased by 3 inches, so the perimeter is now 36
inches. What was the original length of each side of the square? 4 éf _f.;) 36k

A.6in. B. 7 in. C.8in. D.9in.  At/2E = A
A = OR16/NAL 51DE LenisTl 4 FPIAL Y
e qa 7
X =&
7. 56 more than Maria has A. 6+m B.m-6 C. m+6 D mxé6 C Cﬁr,ﬁi
8. 12 decreased by a number A.12-n B. n-12 C. 12+n D. n+12 /:,1
SORAN s ey o
Identify the solution of each equation.
D. 9+n=25 A 14 B. 15 C. lo D. 17 C
10. -5 ="17 A, 22 B. "12 C. 12 D. 22
-12 +(-5) f) B
11."2h =24 - A 4 B. 12 C. 4 D. 12
h (‘_\: ~Y= (-f‘j D
Solve each equation. BE SURE TO SHOW YOUR WORK
12. v+ 4="10 13.z—1|="8 14.3b= 27
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EXTRA CREDIT

It costs $18 to enter the rodeo. Each bag of popcorn is $2.75. If you have $32 how many
bags of popcorn can you buy? How much change will you have leftover?

Use a bar diagram or equation to solve, <
BE SURE TO SHOW YOUR WORK! /Bt R 750 < 34

ﬁ:&éj#ﬁpfﬂﬂd w76 -/8
g 750 =il

AT75 275
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5(72.75)= ]3.75 > sou snr wave $0.35 LEFT

Bags of popcorn

5

Change leftover
$0.25
/8 + 5(2.75) 32
/8 *13.13
30,75 ¢ 3%




